Principles of Algebra

Name/Date Clee /TZ)JM/

ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET
WS 9B.z2 -~ More Solving Systems of Equations by Substitution

#1-7, Solve each system of equations by the substitution method.

1. {x;—z—‘:—y—:e Ax-y=06 X = y-4
o 2ly-e) -y =6 x = 14-4
QY“%’\I=G X = 10
N-% =6 The selvtion
=14 is (10,14).
2 {g:g:;: —> dxedy=-6 x5y =10
dx = ~2y-b  5(-y-3) 45y =10
X=-y~3 -~5y-154+5y=1l0

~-15 #10

“This system has ne selvfiog.

(These lines are pacallel)

2x+7y=-3

i |

3x+y=-14 — 3xX +Y = - Iy Ax +Fy=-3 V= -3x-1Y4
Y = -3x - 1Y A + F(-3x-14)=-3 y =-3(-5)-1Y4
Ax-Nx~-9%=-3 y = 15-1Y4
’IQ’X-q%:‘g = |
Thﬁiolv‘h.bn _qu _ qs \/
is (-5,1). z-5
4. {ZOy—BSx_=415-9 0y ~-5%x =15 2x-3y='“l ==3 44y
¥ = -5x = 15 -20y 2('3*‘{Y)'3y=‘-( . -344(2)
?.{-——E:..:—,..g_;—f_-ij —(0 +$Y-3\{:L‘ 7(:'-3{-%
5y-6=Y x=5 .
Sy =10 T he soltion
y=d is (5,2).




Iy e M-
y= 8Y=28x-12  ~fx -2 (-%x44) = -

yz-3x+4 “bx+bx ~-% = -%
_$ :—?

Infintely many solutipas, Rl points on the ling y = ~3x+4 are soluhons + the System.

(These twe lines arg Hhe same ling.)

R S A
-3x =V 3x - 2A3x) = ~15 Y= '3(-%3
i:—s« 3x +ox =~15 y=5

4 =-15
X = '—'45— TP\L Soéu’rfon
"i:‘_;'_'é— IS ("3‘( 5>.
T pem vhs
3x-1F=85x-25  (=5(1)-25
“Bx-13 =25 y=5-35 The solvtion
o ¥= 40 is (1,-20).

8. Two cans of paint and one brush cost $29. Three cans of the same paint and two brushes cost $46. Find the cost of

one can of paint and the cost of one brush.
let p = price of a paint can 3p+2b = He b=24~2p

let b = price of a brysh 3p *3(9""3(3)=% b= 24"2(13)
3p¢5¢ -4p=ys  b=a24-2Y
P +6% =uL b=5

_?pfb =290 — Jptb=24
3¢ +2b =46 .b;.'.gﬂ_—.‘gp -p =-12 A con oFPaEz\"‘

. costs ¢ 2.
feld brush costs ¢5.






